FOR RAFTER (IF REQUIRED)

MEW-A
ROOF PLATE
8mm THK.
1 BOLTING C\C
RAFTER IPN 200 x26.20 Kg/m > 918 HOLE .
20!
9239 100
8 60 RAFTER BOLTING C\C 150 100 e
® 75 75 N 1 “F
(TYP.)
40 6l i
L
A O ——— ‘ -® Ao
() 8 /]
8 3 8 <)
@\ 2 Nos. #14 HOLES e R e B
: at FOR M16 BOLT 9
4 for Mz BoLT  OAIN2 S 2 3 (TvP.)
° R
o 25 (TvP.) (TYP.)
- 1 10 -
<) / < O s
10mm ) 3
THK. N
3 .
©olX o
- PLATE 0.0 1570x16 THK. - )
5 .
e <crvp‘) PLATE 0.0 1570x16 THK. 100 685 100 685
6 UPTO CL. OF COLUMN UPTO CL. OF COLUMN SHELL PLATE TANK 1.D 20000
6mm THK.
SHELL PLATE TANK 1D 20000 #1570 #1570 mm
6mm THK.
5 (TYP.)
200
200
100 8 100 65
@_‘ @" 25] @‘, ®—\ 25 200
j | /_@ \ ] /_. 100 100
T T
| ' ] 7 | | : Rt 7 | .
‘ - ‘ - \ 16 +
o ‘ 3 } \ j ol o ‘ 3 } | T " 0
= .g- } T ==== @ = g f = i === | {::EE o| @
ik | N | I O
‘ - w ‘ - E=S====c==5 R
| 1 ! e -
| |
‘ 121550 Q) T2eo (") " {:-:I-:} 9
60 45 60 45" RN \
2 Nos. 814 2 Nos. 814 L
_ 125 HOLES FOR W12 BOLT 100132 - @_\ 125 HOLES FOR M12 BOLT ®m® 2 Nos—14x30
R SLOTTED HOLES ")
1 SHELL PLATE (| g (Tve) 1 K —GHTYPJ SHELL PLATE
6mm THK. 6mm THK. 8 (TvP.)
INSIDE_RADIUS INSIDE_RADIUS
T o000 ST 5000 |__TANK INSIDE_RADIUS
. 10000
Esaz NOTE—2§
1 _NO.—18x38 %0
SLOTED HOLE 7 75 ,’92
| | T
)\ 1  E—— E——— SLOTTED HOLES
b 2 Nos-14x30 (1'P")
"
VEW-C .
RAFTER IPN 200 x26.20 Kg/m ° ) 9
— — — = < — — 8 o ! [
'J ! _ _i e
2 Nos. #14 HOLES ' = | =
FOR M12 BOLT & (:)’\
j PR £ S E i 9
3 ‘i‘ \ ] 10 mm THK. 5‘§ %
NE RN
®/ 60 DETAIL-D 101 100 100
125 200 200
9400
NT.S
2 Nos. #14 HOLES RAFTER
FOR M12 BOLT FRNTRCE 2 Nos. 914 HOLES
3 IPN 200 x26.20 Kg/m 181 TR W2 BOLT 100 »
i | | 5 165 1 [
[ A 4 i ]
\ | | J e
0
] $ » i ‘ - | < S
g o e s e EE ST S EE ST S e e ===ge-===x 6 N147 4 44’
e ( : | & 2 °r 3
— — 10mm THK. -
- it 101
2 &l s g 1
- 0 0!
200 8 ]
®—]_so ‘ 2 o € yJ
12mm_THK. L
12mm E/1 60 25
125 ; & |
9400 j \ 125
BACKING BAR 20x90
10mm  THK. 123 %0 ,M
ITEM—6 w

REFERENCE DRAWINGS

1. ALL DIMENSIONS ARE IN mm UNLESS OTHERWISE STATED.

2. LIHIS DETAIL IS JUST FOR THE MARKED RAFTER ONLY. FOR OTHER RAFTER THIS

LL NOT BE APPLICABLE.

DESCRIPTION DWG. Nos.
GENERAL ARRANGEMENT DRAWING FOR CONDENSATE TANK (T—-6002) 165—4—MST—001
SHELL PLATE DETALS 165—4—MST—003
ROOF PLATE DETALS 165—4-MST—004
13 | PLATE 190x380x10mm THK. 1 | astm a-36 785 Kg/n? 6
12 | WASHER 1D 14x 0.0 24x2.5mm THK. | 120 | ASTM A-307 | 5.85 Kc./1000 PCs. 1
11 | BOLT M12 x50 LONG 60 | SREPS  [72:9 Ko./1000 pos. 4
10 | NUT M12 60 Gmgg)s 2.17 KG./100 PCS. 1
9 | wASHER 1.0 18x 0.0 30 x3mm THK. | 60 | AsTM A-307 | 10.6 Kc./1000 Pes. 1
8 | BOLT M16 x60 LONG 30 | CRREF® | 152 Kke./1000 Pes. 5
7 |t mie 30 G'(*ﬁgéa 3.9 Kg./100 PCS. 1
6 | RAFTER IPN 200 x9400mm LONG 30 | astm A-36 26.20 Kg/m 7388
5 | cLEaT 175x150x10mm THK. 30 | As A-36 78.5 Ko/m’ 62
4 | PLATE 140x126x12mm THK. 30 | As A-36 94.2 Kg/n? 48
3 | GusseT PLATE 10mm THK. (as sHowN)| 30 | AsTM A-35 785 Ko/t 42
2 | PLATE 190x170x10mm THK. 29 | AsM A-36 785 Kg/m’ 74
1 | PLATE 200x170x10mm THK. 30 | As A-36 785 Kg/m? 80
WI.JUNT | TOTAL(Kg.)
ITEM DESCRIPTION an.| MATERAL [T
NOTES:

DETAIL

C2

28-10-2015 RE-ISSUED FOR CONSTRUCTION

MH MMA MAS

C1

31-08-2015 REVISED AS PER KR / XJ COMMENTS

MH MMA MAS

Cco

05-08-2015 ISSUED FOR CONSTRUCTION

MH MMA MAS

REV.

DATE DESCRIPTION OF REVISION

DRAWN CHECKED APPR.

o
i

CLIENT.

OIL & GAS DEVELOPMENT COMPANY LTD.

OGDCL HOUSE TOWER-B, FIRST FLOOR F6/G6, BLUE AREA, JINNAH AVENUE ISLAMABAD PAKISTAN

FAX : +92 51 2623033, PHONE: +92-51-9209859

CONSULTANT.

[

Zishan Engineers (Pvt.) Lid.

An ISO 9001-2008 certified company

47/F Block 6, PECHS, Karachi-Pakistan
Tel: (92-21) 34393045-48, & 34310151-54, Fax: (92-21) 34533430 & 34310156
E-Mail: m

DWG. NO.
165-4-MST-005

TITLE

ROOF STRUCTURE DETAILS FOR
(20m DIA. x13.510m HT)

m Website: www. REV C2
JOB NO.
oroser . KPD-TAY INTEGRATED DEVELOPMENT
PROJECT PHASE-II 165-4

SIZE SCALE SHEET

A1 1:4

20F3




